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Spring 2022
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Sime\

16 =4
check t\ =\6

a)J—-——

CheX: - (5‘)"
2) J4%F =Je4q =25

100 <O

e ke
MAQX@Z. ‘RpA\CO\V\O\ >_ 0O

e\m\,\ R

8)\J10°- ¢
= J '00‘36 C\\QQK
put \‘T"t —_- %Zz 6'-‘

=|5

Tnds
Rnowey no -—MCOMA |




April 14, 2022

Sad e Adistomce  between A(Y,) and B2 9),

IS AU

:\l EIRS TN
I 3616t = 100 <\ 10)
S'm:}\ the dowoin Sov [/ Sex):= m W nfecual

notohan. NS tndix b index =2 —>even index
(RoA\'CU\“C\ >0 6-2x20
236
< :\J — 2 X 4__6__
—00 3 A

od) tndex:
'PO\A\‘CCAV\A ‘S Awowey”

—M\M
S\w\?\\g\( )3 6 Answey :M&uA
o “ - l’\ =\ _
WE ;( .
2.V C9= -6
2) 3\]5 : Even tndex
(YW Rodiond 0, Aoswer >0
3l
) \} \25

-
s




April 14, 2022

Siw\?\\g\{ . "
YY1 - (E)DSJZ i
o\ Un&!‘.’«l
- tndex
; o e \
<) \I E Rodkand > O
and <O
SO “\(——{' :1 EQA( “
5) L\‘/TB :@ 6>5 o :
q)vé/ 64 UﬂAQ‘MeA ) é/z; :
ven tadex (&)6:64
RQA§ (M‘A 4O

Radical  vules:
Assome  X>O0

5
L\\}'XL\:X ) ~")(:9() 7(5 =X
Siney Ang,

I -3 J - \*5\:'50/




Movre Rodical Rules:

nji e
(& QIPJ

%im?\\'s\( \I HO - m

Yoe YA Y SiemphSY

?{F‘B :3 %'5

@ @)
Stenphi Sy

) 60 Jas-2 oy 54 =Y -2
501 -Jos e 1?’5;\1 I Je
2\SOas :@ i -.g :@

April 14, 2022

S?m\)\\g\( i E
|50

SophSY 0 S8 - V08

N

Sim?\ \%*\{ \/2? . \[E

:,'6 A2 - \IT:lE = ,'36°8 =

6 -5
NIRE)
SENEY

Jaede
Yed2]




Disteibute ond StempliSy

J5 (410 +J5)
R EE
_Jso  ades

Jw e s :

Disthribote ok SteplSy:
(el —J»).edig —Jao
-2Ja e —Jaio
.2.3J2 —3Jo

YOIL owmd Sim ?\\‘S‘V\ .

USROS
:\/_?;‘6 + 86 @le +10

=6 +@J8 +i0 :5\“7&]

FOIL ond Stmph§y:
(3¥2 v 4) (22 ~4)

o CED

-9 -2 —l6

- =6 :@

April 14, 2022



April 14, 2022

SephiSy (I3 —d3) Wb X = XX

(Vs - J3)- (\\@@

FOTL, StmphiSy
{25 ,ﬁg-ﬁ@
-5 _0 Jis «3

—_
-

Constder the veckngle below:
P-2lL vow

\ ke‘ﬁ’ -2 :2@&2\ *2(2&‘) -‘2\
205 42 - 63m ):/‘4/’*\(5?‘\/

:
A-LW
R

s 6des B 5 §9s -4
- 6‘5 *2 5‘6 “Lk

- 20 —235 -4 -




April 14, 2022

Seowe ‘0\6 NCY W)Q.""\OA'
X - \6:—1 X— CX

N x=t =
\A i*‘& 2_ x=1

Fodl Aas: s_(a@ 'ﬁ) ) &&0232}

Sole b\Q addihion Method:
Szlexz SuysTe

W ecrualn'ow Can be

SV S VA S{\?* _g,\%
43% - w=3 S
375. /\5

5-W=3
aaa a3

(=35, -32)

2
X - g =9 rodued v we Aivide \0\6‘\

i(& ), (5,-82), ("&f&%




Win¥: 15date ong

9( —38 - Noriable, then Use
"?‘ * =25 Sobs. Method
x: 2w -5
(5\8~5> *\3;25
(3 -5) (2 - 6}*‘32’2
AW — 59 425 +Y =
9 \5\8 d /0 7(3(0) 5)
0y -204%=0 -5
D\\J\At b‘a 10
-39 =0 3 x=3(3) -5

3(5 3):0 \-so,\\\ﬁ));/\—j

S\‘né The Mmensions oS o ‘(ec\‘ar\rj\e with
Pev\m&w 4o Seet ond  Gven 96 Squve Seet

so( oLy 2wW=10
L Loy w:é%
LW =96
(20-W)W=%6 W — 20W 4% =0

cow —W =16 (w-g)w-12)-0

W-$=0 wW- =0
w=3 W=\

i LS
Sim\ Anst L=\

Z Sy oy ¥

April 14, 2022



S
Sind L EW S fren io 08 SY
Lw - 0%
o w0t W Pythogor cam Thw
%‘\‘X‘(Mb W 15”
L
LwW= (08 ——> W= ‘—052
%. L2y wo=225

5 ALY
L2y (\0‘5323225 1% SOR 208

2
motkipy oy b B
Aear  Svaction,
\_2' .La \,/g. “_E,E_LL;\_Z"DS
4 2
4 e = 225 L

L Z025\% 4 WeE=0

(L"’” -|=|~|\ (f— %1) -0
DWW =108 WA . 2
oy L=%L
- wo\e
A w108 L= \2 L9

sions OX €

Dimew
Gl 1eb

April 14, 2022

\3 VowieS étred\g AS 7(%. ‘é “ KX
e
4 s 128 when X o o Vs
28 = V6 X
: S 5. B O
Sind \A whew X \S K ¥
38"

Exomn 231 Rpril 26 W,




April 14, 2022

‘3 s \O when X 151000, 3]7(
e s 5|/ 10- A
§ind @w\\m X \S A %/%
10 > A
_ 100 10
0 ¥x \\A:\OO \
Jos ®
Closs Az \b:
Solve
R I RS
,)42, o 255 &7_7%
> =W )
X-%3 Sl $02.2),(3,),
- st L3 (3




